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Calc(Stringsexp) {/U 00O 0O0O0OO0OOOOOO (O
Jodooooo-~ouod)/oooodod intposl,
pos,posR.//pos->0 00 0OO0O0OOOO //posk->00 0O
Jodododouououood Hposk->000o0don
DO0oo000doooddao StringsTmp, sk, sR.//sL->0 0 0O
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000000 bool IsMinus. // 1sMinus->0 O */0 0O O U O
If(sExp.AnsiPos("error")) return(sexp). while(pos = sExp.AnsiPos("
")) sExp = sExp.Delete(pos, 1). /000000000
If(sExp.IsEmpty()) return("0"). while((pos = sExp.AnsiPos("[")) > 0
|| (pos = sExp.AnsiPos("{"))>0)//0 0 0 0O 0O (sExp =
SExp.SubString(1, pos - 1) "(" sExp.SubString(pos 1, sExp.Length()).
while((pos = sExp.AnsiPos("]")) > 0 || (pos = sExp.AnsiPos("}")) >
0)//0 00000 ) sexp =sExp.SubString(1, pos - 1) )"
SExp.SubString(pos 1, sExp.Length()). /0000000 0O O O
JO0odoooooooOa
while(posL=sExp.LastDelimiter("(")) // 0 O O ({sTmp =
SExp.SubString(posL 1, sExp.Length()). posR = sTmp.AnsiPos(")").
/10 00)if(posR ==0) return("errord D O O O 0O), 0 0O O
[1"). sExp = sExp.SubString(1, posL - 1) Calc(sTmp.SubString(1,
POSR - 1)) sTmp.SubString(posR 1, sTmp.Length()). }// 0 0 0O O
DOo00O00o00od*dn 1sMinus =false. // IsMinus->0 O */



O 00 0O while(sexp.LastDelimiter("*/")) // U O *U / { for(pos
= 1. IsExp.IsDelimiter("*/", pos) amp. pos if(pos ==1 || pos ==
sExp.Length()) return("ferrord D O OO OO *0O0 00, 00O
™). posL = sExp.SubString(1, pos - 1).LastDelimiter(" -"). //
posL->0 0 0O*O0OOOOO -MinusO: for(posR = pos 1.
ISExp.IsDelimiter(" -*/", posR) amp. posR // posR->0 10 I */00 [
Oo0o -*000 if(poskR == skxp.Length()) return(“errord [
OO0 -*000d,oodaor).if(sexp.SubString(pos, 2) =="*-"||
SExp.SubString(pos, 2) =="/-"")//0 000000 {
SExp.Delete(pos 1, 1). IsMinus = 'IsMinus. goto Minus0. } sL =
SExp.SubString(posL 1, pos - posL - 1). sR = sExp.SubString(pos 1,
POSR - pos - 1). if(sExp.IsDelimiter("/", pos) amp. sR =="0")
return(ferror0 0 O OO OO O OO™). sexp = (posL == 07?
String("): sExp.SubString(1, posL)) (sExp.IsDelimiter("*", pos)?
(sL.ToDouble() * sR.ToDouble()): (sL.ToDouble() /
sR.ToDouble())) sExp.SubString(posR, sExp.Length()). }
If(IsMinus) sExp = String("-") sExp. /000 00O 0O O O
Osexp0 D OO0 O0O0O0OoO0o-g/U0dbdooooooon
OO0 -00 IsMinus=false. /00000000
while(sExp.LastDelimiter(" -")) // 0O O 0 - { for(pos=2.
ISExp.IsDelimiter(" -", pos) amp. pos



